A £ 0l & AF & S

Al A

SA - ZE . BR() - HRAR - BES of v G o HIDE2
G&ItEL 113,418,854 118,313, 158 A\4,894,304
= 48,453,749
[ 2,880,027
Il 7,722,570
< 30,540, 141
Al 23,822,367
FAHES Ols BES 29,165,738 34,528,192 Ab,362,454
= 11,074,712
s 2,552,163
Il 68,592
= 4,920,798
Al 10,549,473
Ors=X 16,592,545 17,571,390 N\978,845
= 10,751,646
s 192,224
Il 68,592
= 2,559,356
Al 3,020,727
or==X X 22,630 34,200 211,570
201 er23| 1,030 1,300 A270
01 AtR2t2|HI 1,030 1,300 A270
Oo2g=¢ 700
-OlsSAlRIa g 4
70,0002 * 10 22| *50f% 700
O0elole &AL 330
-HEY ALY 10,0002 *33H 330
202 04dl 400 600 A200
01 2L AL 400 600 A200
OO0ts=Al gF=4 ol
200, 0002 x22 x23] *50% 400
301 22N = 9,200 20,300 A11,100
02 AL 2EH LGS (HAAS, W) 9,200 20,300 A11,100
Ozsda8ltg(0se)ots 2E/AZS X
= 1,000,000& *22] 2,000
O2A==%0ts dAHl X2
3,600,000& x2&H 7,200
307 @I2to1 & 12,000 12,000
11 AMISXAIEEX 12,000 12,000
OO0iglold &AL X1 12,000,000 * 14! 12,000
IHEAS KMXIE A 187,240 310,360 A123,120
& 38,388
Al 148,852
301 EtE NS 187,240 310,360 123,120
= 38,388




FAT HEIED
M HoE Ol ©5
gtel: Ol==X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 148,852
02 A EEHS(FIANE, XLTHE) 187,240 310,360 A123,120
OIS (768)
150,480,000 * 14! 150,480
== 27,360
Al 123,120
OIS 0ISAU 2=
20,0002 64N T 1200 = 15,360
= 4,608
Al 10,752
OJIERIEOtSHIL SE M=t
50,0002 64 M| CH+22] 6,400
== 1,920
Al 4,480
OIS 0ISAU tErstEsIa
1,500,000 *10Z 12 15,000
= 4,500
Al 10,500
HERE A 39,215 58,715 19,500
= 27,451
= 3,529
Al 8,235
301 LEtE N = 39,215 58,715 19,500
= 27,451
& 3,529
Al 8,235
01 AR E2EHSFS(RRNEERTHE) 39,215 58,715 219,500
O SIE0ts dolil28s A&
4,315,000 *14] 4,315
= 3,021
= 388
Al 906
OJtg9g, ggots &elxizdl Xd
200,000& 2 * 111 & 4,400
= 3,080
S 3%
Al 924
OfDI0ts IHEES MI20tsESH| X2
4,500,000 *14] 4,500
= 3,180
= 405
Al 945
OdEINEAE HE0ISESH A&
1,000,000 x1H* 1204 & 12,000
= 8,400




A HAIED
M HoE Ol ©5
&©2: OlsEX (SH &)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
= 1,080
Al 2,520
O0tEE8E7YY| X2
1,000,000 *2H 2,000
= 1,400
= 180
Al 420
Ogiiaols 238l XA
1,000,000 2604 & 12,000
= 8,400
& 1,080
Al 2,520
A2A0ts HEXA 97,989 112,564 A14,575
J| 68,592
& 8,974
Al 20,423
301 LPENS 97,989 112,564 A14,575
| 68,592
= 8,974
Al 20,423
01 Al EEH 262 (2 UEXTHE) 97,989 112,564 A14,575
OYYOLS YRLY XL
200,000 x35G 1200 & 84,000
| 58,800
= 7,560
Al 17,640
OZliots YLy B3
8,010,000 14 8,010
| 5,607
= 721
Al 1,682
ogatls 23 2,579,000 1% 2,579
| 1,805
= 387
Al 387
oYL=t LAKIE
1,400,000 14! 1,400
J| 980
= 126
Al 2A
OgA0ots =ot=s K&
2,000,000& 1 2,000
J| 1,400
= 180
Al 420




A HAIED
B oS Ols 25
e OtsS=X (CH9: &S1)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
2SEZ0ts NEEHES 190,000 220,000 230,000
& 57,000
Al 133,000
301 LPBNEZ 190,000 220,000 A30,000
& 57,000
Al 133,000
2 AN BEA>HS(HUYHS, NYTHA) 190,000 220,000 230,000
OOISLSAIE S401S NHES
10,000,000 *7H 70,000
T 21,000
Al 49,000
OIEE S40IE VREHHD
10,000,000 +3Y 30,000
& 9,000
Al 21,000
OJIESIHESER0IE VAR
10,000, 0003 »9H 90,000
T 27,000
Al 63,000
2SE=20ts TE+E 726,000 433,910 292,090
= 580,800
& 43,560
Al 101,640
301 LetEHZ 726,000 433,910 292,090
= 580,800
T 43,560
Al 101,640
01 AISIBE X 2GS (2 LETME) 726,000 433,910 292,090
OEEER0IS N2+
500,0002x121E* 1200 & 726,000
= 580,800
& 43,560
Al 101,640
AEEHEE XA 70,400 0 70,400
= 21,120
Al 49,280
301 LEBENZ 70,400 0 70,400
= 21,120
Al 49,280
02 MBI EEASGS(HUAS, XLTHEA) 70,400 0 70,400
OURY(ES0IS-25F20tS ) 2 HBX
200,000 x162Z *13] 32,400
& 9,720
Al 22,680




FAT HEIED
M HoE Ol ©5
e OtsS=X (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OXag NPIIE K
1,000,000 *38H 12 38,000
= 11,400
Al 26,600
ZAHEX s Ots NEXZ 27,750 28,659 A909
= 19,425
= 2,497
Al 5,828
301 LEtE N = 27,750 28,659 2909
= 19,425
S 2,497
Al 5,828
01 A2 HSFS(RNEERTHE) 27,750 28,659 A909
OZAEXs Ol MHEXE HdEHIE
300,000 6% 1,500
= 1,050
S 135
Al 315
OdAEXs Ot NEXA Atcll2tel
35,0002 x 152 *502] 26,250
= 18,375
= 2,362
Al 5,513
OlSZEXNAE MAHMBLER 2,013,240 780,000 1,233,240
= 1,409,268
== 181,192
Al 422,780
301 EtE NS 2,013,240 780,000 1,233,240
= 1,409,268
[ 181,192
Al 422,780
01 AR 2 HSFS(RNEERTHE) 2,013,240 780,000 1,233,240
OOtSE 2 XA Z At
2,013,240,000& x 14 2,013,240
= 1,409,268
< 181,192
Al 422,780
BIIE EEIAAER 2 38,400 48,000 29,600
= 11,520
Al 26,880
307 elztol & 38,400 48,000 29,600
= 11,520
Al 26,880
1 AMISXAIEEXS 38,400 48,000 29,600




FAT HEIED
M HoE Ol ©5
e OtsS=X (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OIS CaoAAES A
38,400,000 x 14 38,400
= 11,520
Al 26,880
Ots=Adl X 2,002,720 2,116,205 113,485
== 1,523,556
Al 479,164
301 22N 2,002,720 2,116,205 A113,485
[ 1,523,5%
Al 479,164
02 MBI 2EHSFHS(HAANS, XLHE) 2,002,720 2,116,205 113,485
O31IE SAXE
8,000 *1,500H x5 1,140,000
= 1,140,000
OZ4lots X 8,0002 x31H 365! 90,520
== 27,156
Al 63,364
Ogsts ots34!l XA (1,650, 0Y)
772,200,000 * 14 772,200
=S 366,400
Al 415,800
Olsr=ga20ils 10,893,378 13,104,795 A2,211,417
= 8,714,702
=S 653,603
Al 1,525,073
301 Eet2 NS 10,893,378 13,104,795 A2,211,417
= 8,714,702
= 653,603
Al 1,525,073
01 Al EE A S (2 RDEEMA) 10,893,378 13,104,795 A2,211,417
Ooots+¢ =20 10,893,378,000& * 14 10,893,378
= 8,714,702
= 653,603
Al 1,525,073
OlSE285R3 21AH| 258,040 267,654 N9,614
[ 192,224
= 14,417
Al 51,399
101 @124H| 218,040 224,654 26,614
= 160,224
< 12,017
Al 45,799
02 JIEtME = 218,040 0 218,040




2A:
X XH -
o e

=aak

Ol&ot=0t
FAAHES Ols B

Ors=X

SA - Z3F - SRA(3) - HRAEY

- HyS

Ofl &F2H

HMEE
Ofl &k2h

OOtsESNER

0

o124H|

[y i}

33,380, 000& +6Y

2,960,000 6%

SRR

=

200,280
160,224
12,017
28,039
17,760

@)
0x
AR
0z
@
oy

H0
02
=5

N
o
=2
ne

SRR

6,300
5,040
378
882

15,000

A8,700

70,000 6 *102]

n
n
I
x0)
oy
on

20,0002 ~95&

SRR

=

= M &

SRR

=

6,300

6,300
200
160

28

4,200
3,360
252
588
1,900
1,520
114
266

15,000

8,700

202 04l

SRR

1,200
960
72
168

1,200

01 =LHOHI

OOtsEadEe¥ 0l ¥ w=hl

200,000 x6H

SRR

=

1,200

1,200
960
72
168

1,200

SRR

32,500
26,000
1,950
4,550

28,000

4,500

32,500

32,500

28,000

4,500




FAT HEIED
3 HAAS Ots 2
(= V=== EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-250ts 92| K&
50,0002 102/ * 18H 9,000
= 7,200
< 540
Al 1,260
-250ts BHEud S 2208 M3t
30,0003 #250H 7,500
= 6,000
< 450
Al 1,050
-Atdl2el 25 XA
100,0002 %160 16,000
= 12,800
< 960
Al 2,240
OLSSH AL 25,543 41,885 N16,342
201 er23y| 21,743 34,885 A13,142
01 AtR2t2lHI 13,257 22,487 29,230
(@)1= pagestall 7,857
-Otssith 2= MR
1,000& 5,000 *50% 2,500
-SAP| Sl 180,000& « 12& 2,160
-SANEA 7Y 33,0003 5 Ax 123 1,980
-J|2EAESH 150,000 x22| *50f% 150
-SJ|¥E)| dE 55,900 122 671
-0 dE 33,0002~ 12 3%
O=gHl 4,320
-OlSESE RFA S20AH|
8,000 9 +52|« 12 4,320
O=g=g 1,080
-~+IHHI0I N ==& 100,000 * 1 +83] 800
-Orssil WS ZA=
70,0002 x1H+43] 280
02 S3=gHl 8,486 12,398 A3,912
Os&l= # MAMsl= 8,486
-QIEUAIER 50,000& * 122 600
-REgss 150,000 +8& 1,200
-SUHESHARE) @=
50,0003 *4CH* 122 2,400
2SS AMRE) 23
10,0002« 128 120
-AFR A CCTV STHE 88,000& * 122 1,056
-HIINSA SEEER
1,000,000 %14 1,000




2A:
PSR
ool

VEEp/ES
oS Ol 25
WEEW

SA - ZE . BR() - HRAR - BES of v G o HIDE2
-HIINSH S8 d)Ig
40,0002 %122 480
SIS XS XAl 130,000 %14 130
“HIINSA 2E2E =2l
3,000,000 141 %50% 1,500
202 04l 1,800 3,000 21,200
01 2LHoIH 1,800 3,000 1,200
OOtSEsE HRFA 2204
200, 0002 *9E #23| x50% 1,800
307 el2to| & 2,000 4,000 /2,000
012z & 2=H| 2,000 4,000 A2,000
Ostiiulehots 2 & &
2,000,000 *14] 2,000
Ols=XAE 23 12,567,793 16,951,402 4,383,609
= 323,066
[ 2,359,939
= 2,361,442
Al 7,523,346
OlS=XAIE 28 Xd 4,947,567 8,960,353 A4,012,786
= 946,747
Al 4,000,820
301 eEtE N = 295,687 387,980 N92,293
= 109,307
Al 186,380
02 ANBI2HHSFS(HAAS, NLHE) 295,687 387,980 AR,293
OOts=AAIE SAH S8+
127,530,000 * 14! 127,530
[ 58,860
Al 68,670
OA&0lS HstgstEdI=
1,500,0002 x15F 12| 22,500
= 6,750
Al 16,750
OAlZ0ts =808l
100,000 »42E +12] 4,200
[ 1,260
Al 2,940
OANE0ts d88= 141,457,000 *14] 141,457
= 42,437
Al 99,020
307 @I2t01 & 4,651,880 8,572,373 A3,920,493
s 837,440
Al 3,814,440
10 Al2ISTIAEEE2HIEX 4,651,880 8,572,373 23,920,493




2A:
X XH -
o e

=aak

VEEp/ES
FHoPHS Ol 25
OIS=TANL 2

SA - ZE . BR() - HRAR - BES of v G o HIDE2
OO0ls=XIAIE 2ZHI(69H2)
4,565,000,000% 14! 4,565,000
= 830,000
Al 3,735,000
OAlZ0ts X Z2 eI (6942)
74,400,000 *14] 74,400
S 7,440
Al 66,960
OO0IS=RIAIE SARL &)125+E
12,480,000 » 14 12,480
2ES0ts 188 24 692,671 650,079 42,592
= 223,910
= 138,974
Al 329,787
301 EtE N = 132,175 196,413 A64,238
= 38,212
Al 93,963
02 MR 2HALFS(HAAS, XNLHE) 132,175 196,413 A6B4,238
OEE SAL SESIHI
150,000& 16 & 22| 4,800
O0EE SMA sg2E
21,600,000 * 14| 21,600
S 6,480
Al 16,120
OOSs EAA 21A4H| 2H
76,245,000 *14] 76,245
S 22,873
Al 53,372
O0EE 2ES0ts =& &H|
100,000& *7 =12 700
= 210
Al 490
O0Es REs0ls UststEtl=s
1,500, 0002 «2& 12| 3,000
=S 900
Al 2,100
OIEE 2250is Ma8s
14,910,000 * 14| 14,910
= 4,473
Al 10,437
O18E RES0ls MEFH|
4,720,000 14 4,720
=S 1,416
Al 3,304
O1E8 RES0ts NHEAFZZ2 8|
5,400,000 * 14 5,400




FAT HEIED
B oS Ols 95
el OISSXAE 28 (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 1,620
Al 3,780
O1&8E REs0ts W=H|
100,000 8 800
= 240
Al 560
307 212+01& 560,496 453,666 106,830
= 223,910
= 100,762
Al 235,824
10 AlRISXAZEE 22X 560,496 453,666 106,830
OREslls 188 2gAE
139,944,000 #4H 2 559,776
= 223,910
= 100,762
Al 235,104
O ML &JI2sE
20,0003 38~ 1201 2 720
IHEIE XN HE 2EX2 29,642 27,160 2,482
308 XXM SOIH 29,642 27,160 2,482
07 AX R FE= 29,642 27,160 2,482
OIS ASRNAHEH 29 (10H2)
29,642,000 * 100 2 29,642
SttHuloiotsa e 23], ladl, Al 259,234 198,845 60,389
= 99,156
= 32,805
Al 127,273
307 elztol & 259,234 198,845 60,389
= 99,156
< 32,806
Al 127,273
10 Al2IS XA EEE 22X 259,234 198,845 60,389
OsttiuloiotsEE 2SHI(1IHA)
247,894,000& x 14 247,8%4
= 99,156
[ 29,745
Al 118,993
OstiLlciOtsEH SALA SE+Y
,840,0002 %14 6,840
= 2,160
Al 4,680
OSIHUIGHOtSEH SAHAH SEFOH
150,000 5& »23] 1,500
OstIIoiOtsEH SAA RIgY
50,0002 x5« 123 3,000




FAT HEIED
M HoE Ol ©5
tel: OIS=EXIAE 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 900
Al 2,100
OlsEsdEl12 2dX3 42,934 28,884 14,050
308 AXIMSOIA 42,934 28,884 14,050
07 HXHH2LEES 42,934 28,884 14,050
OOlsEZd2012 2E(1HA)
42,934,000 * 10 £ 42,934
Ol =X wAL I 850,989 830,610 20,379
[ 341,539
= 102,462
Al 406,988
101 21A4H| 850,989 828,810 22,179
[ 341,539
= 102,462
Al 406,988
03 SRH(RINHA) 222+ 850,989 828,810 22,179
OOtSSXIWAL IHA X
683,078,000& x 14 683,078
[ 341,539
= 102,462
Al 239,077
OOtS= X WA SEFIHI
17,940,400 »23] 35,881
OOtsS=SRIWAL ZE &
100,000 x36E « 12& 43,200
OOtS= X WAL OFS= X WAL SAMHI
100,0002 *36 * 123 43,200
OOts= A WAL OFSS A WAL W SH|
100,000 «36E * 122 43,200
OXISA2ISXIAL HOE A4H|
90,000+ 1S »7 630
OXIFAIZI S XA 2t 04b]
150,000 x 12 * 12 1,800
AEotsHE 238 XA 692,000 3,454,000 A2,762,000
[ 346,000
= 103,800
Al 242,200
307 elztol & 692,000 0 692,000
= 346,000
< 103,800
Al 242,200
10 AlRISTIAIEEE 22X 692,000 0 692,000
OXSotsSHE 2gH| X2
692,000,000 x 14 692,000
= 346,000




FAT HEIED
M HoE Ol ©5
tel: OIS=EXIAE 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 103,800
Al 242,200
KS0tsSHE elAd] K& 3,226,000 0 3,226,000
= 1,613,000
< 483,900
Al 1,129,100
307 lztol & 3,226,000 0 3,226,000
= 1,613,000
== 483,900
Al 1,129,100
10 Al2ISTIAIEEE2HIE X 3,226,000 0 3,226,000
OXIOLSHIE] 012iH] X2
3,226,000,000& 14] 3,226,000
s 1,613,000
== 483,900
Al 1,129,100
S+=4d NY0tsdH X 21,600 21,924 N324
s 10,800
s 5,400
Al 5,400
307 @I2t01 & 21,600 0 21,600
[ 10,800
= 5,400
Al 5,400
10 AlRISXAIZEHE 22X 21,600 0 21,600
OS42x8 XHOISHE Tg
1,800,000& «12& 21,600
[ 10,800
= 5,400
Al 5,400
EQREE NYotsdH X 7,200 3,648 3,552
[ 3,600
= 1,800
Al 1,800
307 gl2to| & 7,200 0 7,200
[ 3,600
= 1,800
Al 1,800
10 Al SXAAEEHE2EHI2x 7,200 0 7,200
OEREZ XNY0tsdH X2
600,000 * 12 7,200
[ 3,600
= 1,800
Al 1,800




FAT HEIED
M HoE Ol ©5
tel: OIS=EXIAE 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
BACIEl SR At 125,654 176,098 A50,444
= 57,533
Al 68,121
307 el2to| & 125,654 176,098 A50,444
= 57,533
Al 68,121
1 AMISXAIEEXS 125,654 176,098 A50,444
OBAIIZI B2 A2l
125,654,000 * 14! 125,654
== 57,533
Al 68,121
NS OtsHE THHIXIZ AL 1,572,302 2,291,835 AT719,533
= 473,321
Al 1,098,981
201 Ler23 | 630 1,260 A630
01 At2teltl 630 1,260 AB630
O=2g+¢ 630
KHOISHESAAAS] 510 BAL
70,0002 x0H *13] 630
202 04| 600 1,000 A400
01 =LHO LI 600 1,000 2400
OXIOISHE 22 27 2U0i]
200, 0003 x2E 32| *50% 600
307 el2tol & 1,571,072 21,960 1,549,112
= 473,321
Al 1,007,751
10 AlISXAEEE 22X 1,566,072 6,960 1,569,112
OXlelotsHE 238l X2 (XEA)
98,940,000 * 14! 98,940
== 25,811
Al 73,129
OXIOISHE 2AH| X2
981,960,000 x 14 981,960
= 327,320
Al 654,640
OXIHOSHIEl 2AEL0| N
207,000 38 2+ 128 94,392
== 28,318
Al 66,074
OXS0otSHE Wit X3
100,000 *400H A +62 24,000
OXS0tSHE SAHA SE4E
90,0002 «88H 122 95,040
s 28,512
Al 66,528




2A:

X XH -
o=

Ol&ot=0t

FHoPHS Ol 25
Z

tel: OIS=EXIAE 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OXISiotSHIE SAMK QI24H| 2 4~EH (88"
) 137,280,000 *14] 137,280
= 63,360
Al 73,920
OXIS0tSHE SAHL X2IH&HI
100,000 «85E 122 102,000
OXISOtSHIE! SAL #1255+
20,0002 x20F « 122 6,960
OXNS0ISHE SAHL HE+<
150,000 x85EH *23] 25,500
11 AMISXAIEEX 5,000 15,000 10,000
OXIS0OtSHE WAL A28 WS
5,000,000 *14 5,000
CietlSsdE 22d X2 12,000 14,000 22,000
s 6,000
== 3,000
Al 3,000
307 212+01& 12,000 14,000 A2,000
= 6,000
= 3,000
Al 3,000
10 AlISXAIZEHE 22X 12,000 0 12,000
OtgNssdH 238l K&
12,000,000 * 14! 12,000
[ 6,000
= 3,000
Al 3,000
CHEtNESsSdE A8l X 78,000 84,000 26,000
[ 39,000
= 11,700
Al 27,300
307 gl2tol & 78,000 84,000 26,000
[ 39,000
= 11,700
Al 27,300
10 Al SXAAEEHE 22X 78,000 0 78,000
Otighss4dH oAb X3
78,000,000 * 14 78,000
[ 39,000
= 11,700
Al 27,300
CreNEsdE 2tad] X3 10,000 10,000 0
307 gl2to| & 10,000 10,000
1 AMISXAEEXS 10,000 10,000
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2A:

Hu: FAH 25 54
el A 2SX (St &)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
OFAE=D s 2=
30,400,000 & 14! 30,400
= 15,200
Al 15,200
11 SHAIAHIXI A2 120 1,300 A1,180
OFaxERofiSHEZAIS 23
20,0003 x6F*13| 120
14 JIEt2 43 250 500 A250
OHAESHSRAD oS
50,000 53] 250
405 XHeHE S| 2,500 2,500
01 AL =ZFSHI 2,500 2,500
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= 2,146,330
= 996,621
Al 444,266
307 el2to| & 3,587,217 3,587,217 0
= 2,146,330
& 996,621
Al 444,266
10 Al SXAIEEHE2EHI 22X 3,587,217 3,587,217 0
OOZI0IE CHAMIAL Q124H] X2 (2Y)
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= 30,000
< 9,000
Al 21,000
OO{ZI0IE EXWAL Q14H] X1 (332)
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= 2,116,330
== 987,621
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= 124,285
< 9,321
Al 21,750
01 AR 2EHSHS(RNEERTHE) 163,356 149,563 3,793
CEAEHE Ot &€ 2208 X2
136,556,000 *14] 136,556
= 109,245
[ 8,193
Al 19,118
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1,400,0002 * 12& 16,800
= 13,440
< 1,008
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11 dALEBIXNIE S 2,000 2,000 0
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[ 1,600
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405 KHoHF S| 4,000 4,000 0
[ 3,200
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Al 560
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O480I12 222 93 1E L T2 D
SX2 7l 4,000,0002 14} 4,000
= 3,200
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Al 560
od =X 58 14,770,064 14,105,164 664,900
= 2,697,399
Jl 6,403,273
< 2,024,683
Al 3,644,709
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Il 1,433,178
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Al 2,196,066
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OOl E = a8t 22l0i|
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301 EetE2 N = 3,530 11,351 AT,821
11 #AIAHIXIE = 3,050 10,451 AT,401
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uf 10,0002 100 1,000
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ONgeicI=gal S HgedAL Xt
&l 50,0002 x26& 1,250
4IE2d=S 480 900 NA20
O2HEE KB EEIH MAH(elztel)
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11 AMEISXAEEE 24,100 38,800 14,700
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12,600,000 * 14 12,600
OSXE JTH=LIs A
3,000,000 %14 3,000
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8,500,000 * 14 8,500
MEHE 28 & MNHussd 699,690 646,464 53,226
= 485,024
< 42,933
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= 485,024
=S 42,933
Al 171,733
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= 4,800
= 960
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= 600
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Al 11,400
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193,800,000 *14] 193,800
= 165,040
= 7,752
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Al 263,290
10 Al2ISTIAIEEE 22X 426,002 464,933 238,931
O0ld FHEHPua ()
9,600,000 14| 9,600
= 2,880
Al 6.720
Odggeic|=Es
70,000,000 * 14! 70,000
s 21,000
Al 49,000
OMZHIE SALA &34l X
27,973,000 * 14| 27,973
= 9,493
Al 18,480
OMAIE SAL HRMHLH(SXIZQIE,
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s 16,239
Al 37,890
OdggZEM= e N2 A
55,000,000 * 14| 55,000
= 16,500
Al 38,500
OSZH-gel2DiZuE 29 209,300
-SEHSINUAHH 22|
201,500,000& *x14] 201,500
[ 93,000
Al 108,500
-SRI 2ME AdEE XA
7,800,000 *14] 7,800
= 3,600
Al 4,200
et Al &4 22,440 22,440
201 et 3| 5,440 5,440
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Oolgal=pig & Ma S 294l N3
2,000,000 %14 2,000
HEZIS Al AlEEEE 2Y 10,990 10,990
301 EtE2 NS 9%0 990
11 #AIAHIXIZ = 990 990
OAIZIF0E 2LIEE &St
11,0002 *30 & +63] *50% 990
307 212+01& 10,000 10,000
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E 10,000,000& * 14| 10,000
SEADIRAH 29 536,661 562,461 25,800
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< 76,572
Al 204,849
201 er23 | 26,181 31,181 25,000
01 At2teltl 26,181 31,181 /5,000
OSEAIISHH A= itz
26,180,240& x 14 26,181
307 @120l & 510,480 481,280 29,200
Il 255,240
= 76,572
Al 178,668
10 Al SXAEEHE2EHI2x 510,480 481,280 29,200
OSEADIIFHH 28
510,480,000 x 14 510,480
Jl 255,240
= 76,572
Al 178,668
SEADIRHH SALL SE5¢ 27,000 27,000 0
= 8,100
Al 18,900
301 Eet2 NS 27,000 27,000 0
== 8,100
Al 18,900
02 ARSI 2E AT S(FIANS, XLETHE) 27,000 27,000 0
OSZEAIJIRUE SAHL S8
27,000,000 * 14| 27,000
= 8,100
Al 18,900
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Al 641,550
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307 lztol & 3,044,500 2,372,446 672,054
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Al 3,150
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Al 74,062
307 elzto| & 183,750 180,620 3,130
= 84,375
& 25,313
Al 74,062
10 Al2SIIAIEEE 22X 168,750 165,620 3,130
OJ=52EE XA
168,750,000 *14] 168,750
= 84,375
< 25,313
Al 59,062
11 AMEISXAIEEXS 15,000 15,000 0
OO0IERI IS M HA
15,000,000 * 10 2= 15,000
SSF0tU=sE 2 55,194 54,846 348
Il 27,597
= 8,279
Al 19,318
307 el2to| & 55,194 54,846 348
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= 8,279
Al 19,318
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307 212t01& 1,680 1,440 240
10 Al SXAI2EHE 23| 1,680 1,440 240
OWd=e SAAIE SAHA BJI255E
20,0003 +7E 1204 & 1,680
SSaEA 2 213,212 203,052 10,160
Jl 106,606
= 31,984
Al 74,622
307 gl2to| & 213,212 203,052 10,160
Il 106,606
= 31,984
Al 74,622
10 Al SXAAEEHE2EHI2x 213,212 203,052 10,160
OSgdgEs 23 213,212,000& 14! 213,212
Il 106,606
< 31,984
Al 74,622
JHEZE Dbl it BEXSLZ2I#2E 7,800 3,201 4,59
Il 5,460
[ 1,170
Al 1,170
307 212t01™ 7,800 3,201 4,599
Il 5,460
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BJ 11,500
[ 1,480
Al 3,450
307 I2t0I A 16,430 51,757 35,327
Il 11,500
[ 1,480
Al 3,450
10 AFBISTALHERIHIE X 16,430 51,757 35,327
OB 2IIES AL 0l0ISEALIA XI(
2 2) 16,430,00024 14! 16,430
Il 11,500
[ 1,480
Al 3,450
DUESAIE 29 547,244 828,632 281,388
= 144,389
Al 402,855
DRESAIEX 547,244 828,632 281,388
== 144,389
Al 402,855
307 RI2t0I A 547,244 828,632 281,388
== 144,389
Al 402,855
10 AFBISTAILHE 2B X 547,244 828,632 281,388
ORXIIESRIAE SEHI(1IHL)
254,150,0002 *14] 254,150
[ 66,300
Al 187,850
OB I2XAL BAX SE4E
12,600,00084 % 14! 12,600
== 3,780
Al 8,820
OB 2INESXNAIE THIXR 2| (2H
) 44,952,000 14! 44,952
[ 13,486
Al 31,466
OZ2XEXIAE ElAX HEHAS
5,000,00024+8% + 13 40,000
== 10,000
Al 30,000
OOIEZINEETAIE SGHI(1HL)
194,822,002 %1 4] 194,822
[ 50,823
Al 143,999




SN OIEIIED
33 od =X &
ool RUESAE 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ORRIIESAAE SAHL H)I25+8
720,000 *14] 720
Ct=23t X At 581,763 610,248 N\28,485
Jl 221,559
= 96,320
Al 263,884
=8, =0 =X Sd 581,763 610,248 28,485
Il 221,559
= 96,320
Al 263,884
Ol=0id A& 118,640 185,633 /36,993
= 29,855
Al 88,785
301 EtE NS 6,600 8,450 1,850
== 1,980
Al 4,620
02 AR 2E A S(FIANS, XLETHE) 6,600 8,100 21,500
OZE0I2A =8FS HIE N
6,600,000 * 14 6.600
== 1,980
Al 4,620
307 el2tol & 112,040 145,258 N33,218
= 27,875
Al 84,165
10 Al SXAZEE 22X 600 600 0
OIIEHE SARL &lI25+¢(29)
600,000& *14] 600
11 AMEISXAEEES 111,440 144,658 N33,218
OCti=23t otetn 23
20,000,000 * 100 2 20,000
= 8,000
Al 12,000
OZE012A ARE20| 2
21,840,000& * 14! 21,840
== 6,555
Al 15,285
OX0te olglold TE3toloiu s 249
14,400,000 * 14| 14,400
= 4,320
Al 10,080
OZE012A 2=0 o453 =24
30,000,000 *14! 30,000
== 9,000
Al 21,000




SN 01EIIEDL
= =2 NE A
tel: CEst, 2= =X 58 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SEEFEEREEREE
6,000,000& 14 6,000
Ottzshts age=
10,000, 0002 *14! 10,000
OLI2EIlE 2RTSH 22
5,000,000 =14 5,000
On2st YEDSNSA H2HE SHrg
50,0002 7 * 12 4,200
MHESE & HHEE S gE2uUsAHlA X2 202,562 199,232 3,330
Jl 101,279
= 30,384
Al 70,899
307 elzto| & 202,562 199,232 3,330
Jl 101,279
< 30,384
Al 70,899
10 Al2ISTIAIEEE 22X 202,562 199,232 3,330
OU=2etE dEUSAY
202,562,000& x 14 202,562
Jl 101,279
[ 30,384
Al 70,899
Olsa0l Jt=ed &4 35,031 33,943 1,088
Il 17,515
& 5,255
Al 12,261
307 lztol & 35,031 33,943 1,088
Jl 17,515
s 5,255
Al 12,261
10 Al SXAEEE 22X 35,031 33,943 1,088
OLHE3IHE 01820 5B =g AL
35,031,000 * 14| 35,031
Il 17,515
=S 5,255
Al 12,261
CHESHIE {0 e X 78,680 76,246 2,434
7l 39,340
= 11,802
Al 27,538
307 @12t01 & 78,680 76,246 2,434
Il 39,340
= 11,802
Al 27,538




2A: HAIE
B3 C125 X8 A
& O2s&t, =0 =X 38 EER=E)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
10 IS SXAIEHE2ZHIEX 78,680 76,246 2,434
OL23IE THA S0/ LS X2
78,680,000 & 14! 78,680
J| 39,340
= 11,802
Al 27,538
Z20|8IA SHAAMEIA XA 32,813 31,788 1,025
| 16,407
= 4,922
Al 11,484
307 212+01 A 32,813 31,788 1,025
| 16,407
= 4,922
Al 11,484
10 AIEISXAIEHE2ZHIEX 32,813 31,788 1,025
OZS0I8IX SHIAMEIA AHS
32,813,000& * 14! 32,813
| 16,407
& 4,922
Al 11,484
Z20|0IAt F2s K& 20,000 20,000 0
| 10,000
= 3,000
Al 7,000
307 gI2tol ™ 20,000 20,000 0
| 10,000
& 3,000
Al 7,000
10 Al S XA EEHER2IHIE X 20,000 20,000 0
OZEOIDN AN
20,000,000 14 20,000
| 10,000
& 3,000
Al 7,000
CI23ItE Atddi2tel X 74,037 71,700 2,337
| 37,018
& 11,102
Al 25,917
307 QI2Hol ™ 74,037 71,700 2,337
J| 37,018
& 11,102
Al 25,917
10 Al SXAIEHE2ZHIEX 74,037 71,700 2,337




AT HEIED
B3 C125 X8 A
tel: CEst, 2= =X 58 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OCLHE3HE Atell2tel At
74,037,000 x14] 74,037
Jl 37,018
[ 11,102
Al 25,917
NEHO2IESM(MAS] &) 20,000 20,000 0
307 elztol & 20,000 20,000
11 AMEISXAIEEES 20,000 20,000
OAMgdU2IEEM
20,000,000 * 14 20,000
HY2AHHI(HEIHEM) 127,896 126,036 1,860
Jl2Z8I(6EIE) 127,896 126,036 1,860
JlE2ZHI(0dI=EM) 127,896 126,036 1,860
201 er23 | 37,416 37,446 A30
01 At2teltl 37,416 37,446 A30
Oget=ZHI 18,216
-JIZ2ARE S 100,000 *36 3,600
-UIXE S8J| gz
305,000 <2CH* 122 7,320
-ellolMd Zele |Xi2eldl
237,000 +1CH*43] 948
“SAEA 7Y 23,0002 x 182t A% 123 4,968
RS E ==t 150,000 *23] 300
-SJI1EE0| SU=
60,000 *1CH* 122 720
-0 U= 30,0002 «1CH= 12 360
OF=F{:] 19,200
-0 EIIEL BRI S20AH|
8,0002 x20&*103| 122 19,200
202 04| 86,400 84,000 2,400
01 =LHO LI 86,400 84,000 2,400
OWEIIEL HRFA 20|
20,0002 *x36E 102« 12 86,400
203 HR=H| 4,080 4,590 A510
MU A2 LRFAI 4,080 4,590 A510
ORANEgg =AY
425,000 + 122 «80% 4,080




